MOLA ASSEMBLY GUIDE

CODING
- 655127
- 655130

1SO 9001 : 2015

Reg. 000435-1-MY-1-QMS

nesthouz.com

Read the instruction carefully . Remove all the
wrapping material staples and straps from the
carton. Refer to the hardware and furniture part list
for guidance. Be sure you have all part before you
start assembling. Place all the wooden furniture
part on a clean and flat surface, such as carpet or
rubbermat to prevent scratches.

1/6 nesthouz.com



655130


| MOLA ASSEMBLY GUIDE

CAUTION
KEEP ALL THE PARTS OUT OF CHILDREN'S REACH.

ITEM|  PHOTO HARDWARE NAME  |QTY | |[ITEM PARTS NAME aty
&) | (C) MMM | JCBC M6 x 60 mm 10 | HEADBOARD 1
Ommm | JCBC M6 x 30 mm 21 13 SIDE RALL 2
@ e)mm“ JCBC M6 x 16 mm 2 FOOTBOARD
® TOP RAIL 1
@ @:) JCN M6 x 15MM 2
FOOTBOARD
@ CENTER LEG 1
S FLAT WASHER M6 26
~ SIDE RAIL
@ DRAWER FRONT 2
@ METAL L BRACKET 2 PANEL
FOOTBOARD
© &%ZA CSK M4 x 25mm 24 ® Eiﬁ\év,_ER FRONT | 2
DRAWER
H % CSK M4 x 32mm 48| | @ SIDE PANEL 8
D] L pueverm 2 A | B | 4

DRAWER 4
BACK PANEL

DRAWER 4
BOTTOM PANEL

DRAWER
ESSISS BOTTOM RAIL 4

%//%/ e 4
\Q\\\\ contermaL | 2

%\% @ SUPPORT LEG 6
W& MDF BOARD 3

216 nesthouz.com

@ @

® @ ® 3

&)




| MOLA ASSEMBLY GUIDE

CODING
- 655127
- 655130

' BEEEE B
- 5 B b B
- = - i 1 - =3 4
] 4 E g - = G
R B B il .
i T | = ; v el -
] . : e Pk
3 4 et BE- B B
10 e e B
X g8 il = 3 B
L o A 3 ] "
| - _

nesthouz.com

1SO 9001 : 2015
Reg, 000435-1-MY-1-QMS

316 nesthouz.com



55


| MOLA ASSEMBLY GUIDE

CODING
- 655127
- 655130

e z : = I

= % 4 e = - - 3

= ¥ g : F 2 >

| it s g 4 it 3

4 ¢ | Y LS & BT = e

: <4 E : . i 4

21 o i Soi by 3 ! I3 3

3 il e v i A i :

£ - P = B ¥
i =5 —

nesthouz.com

1SO 9001 : 2015
Reg, 000435-1-MY-1-QMS

416 nesthouz.com



655130


ASSEMBLY GUIDE

5/6 nesthouz.com



655130


| MOLA ASSEMBLY GUIDE

CODING
- 655127
- 655130

3 = 958
] 4 E g - = 137 i
K B B il .
i T | = ; v el -
] . L =B e
L H & = i T 3
. ol | 9 o i - el kT
X . = = % B
| - _

1SO 9001 : 2015
Reg, 000435-1-MY-1-QMS

N

nesthouz.com

COMPLETED
ASSEMBLY

6/6 nesthouz.com



655130




